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Divide and rationalize the denominator:
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Identify the error in the following questions.
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Solve for the variable.

1) 20 =—-4x - 6x
-20z-10%
VA

2)6=1=-2n+5
O=~2n
0=0
3)8x—-2=-9+7x

¥ o= 1

4ya+S5=-3a+5

66 =0
a=0

5)2(4x ~3)— 8=4+2x
gxme—'S:Ll%‘Z%
A
¥ 3
Solve for the variable
2n*-n?-136n=0
1} (th-?’)—' "54?216)
n(n+®){2Zn-11)0
‘ﬂ""ol" %a \“E-/?__
2)5x3 +4x2 - 57x =0 ‘
v, {Sx"-:-lw-ﬁ"i}*ft)
X (x=3)(5x+ ;=0
X=0,3,7%s
3)6n*+9n+3n’=0 ‘
2nt (21‘\1-\- %0 +\j=’0
gnt (204)) (02137 O

ne O,y -
4) 20 + 240~ 561 = 0 S

20 (AT+ 12n-23)70
20 (a+ i} {(n=2)=0
5)x*-x=0 () -le 2
x 2 (x—\)tO

¥ T O)'\

6) 3n— 5 =—8(6 + 5n)
3n-5=-Hg-H0n
H3pnz-R3
6z -
7)—(1+7x) ~ 6(=7 — x) = 36
-7x+HZ+6% 36
_y = "5
¥ T 9
8) —3(dx+3)+ 4(6x + 1) =43
L RV I o WV IR L S Ly
;o= k]
Ei—ég

9) 2%a — 22 = —4(1 - 6a)
2770 - 22 = =4 F 24O
3(}\: ‘B
a6
10) =5(1 - 5x) + 5(-8x ~ 2) = —4x ~ 8%
<542 5% YOy - 10 = ~Hy -8 X
-19 = 3%

2v3(e%- 3¢-23)0
. ) O

vx0, 7,
7) 12b°— 2b* - 30b = 0
2bh (G0~ - 15370
2% (35-5)(26+3)70
0 Q. 5/% B3z

8) 4r* — 64r* = 0
U e? (r7'~\ 6>
He2 Ce-t) (e 1)

ez O,-1 . H
9)120°+6b=18b - 126* 4 6%~ 1% O
bo(ze®s £-3)=0
6o (2b+3y (b1} 0

10) 6v° — 42v = —4v* o
L= 0," %2, \

Gv v UV H2v=0O
gy (3u™=m2v-2170

'3\]70 Vro‘7/31-3

(ARENERD IR



Identify the error in the following questions.
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